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XSy« TR - FRB O ff o & H #H 3]l HN E
B R ETRE = 1 81, 725, 962
BT =Y 1 48, 327
AT = 1 48, 327
SE T = 1 31, 422, 400
BN = T2 = 1 31,422,400 | GIHIF—r" -1 (A) 4,000 m2
BOER (T EIHE) 400 m3
TA77VNIIEIE
ALy 400 m3
TA77VMOIEIIE
HEKHE &Y T =Y 1 721,110
B HEK T =y 1 721, 110 | B HEK (A) 645 m
PR T =Y 1 1, 107, 120
PR T = 1 1,107,120 |¥AEh=CX E#R 1, 600 m
. F28 W=15cm JE1. bmm HEKMEARER |
YA =X R 400 m
A i W=15cm JE1. bmm HEAKMEERE |
B AT MR T =Y 1 33, 486, 815
ERAEY T = 1 33,486, 815 | fifi .3 /REk 2 (&
BV as))-} 2, 000 m2
1558 0 a/)-}p
EVas))-} 2,000 m2
2958E Y a/))-h
15 Bh B %t 3R 3, 505 m2
&L T = 1 6, 442, 190
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HEE B L L =X 1 6,442, 190 | BfEy— M2 3, 505 m2
R T =X 1 8, 498, 000
A e P T E20 1 8, 498, 000
[EREI e = 1 81, 725, 962
e s = 1 10, 316, 980
am R E 2V 1 2, 239, 980
T = 1 148, 180 | B Hs bk e di e 1 =
Bty B 2V 1 208, 800 | iE FEHita gk FEAT I 1ERLEY 1 =
B T TR R X S AR Y 1 X
BUGERBISET (G L) 2V 1 1, 883, 000
M@ty (L) 2V 1 8,077, 000
ol T2 = 1 92, 042, 942
Blap e L = 1 37, 718, 000
TR i =X 1 204, 388, 151
— R P 2V 1 30, 741, 849
T ik 2V 1 235, 130, 000
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B R ETRE =¥ 4,631,975
BT = 212, 789
PRHEIT = 22,740 |HBHI 20 m3
+# ;
R T eV 65,864 | ILMHIY () i) 80 m2
+4
e TALER T = 124, 185
HEKHE &Y T = 231, 210
BEAK T = 231,210 |15HEAKMTRN 17 3 & AT
15 HEKE 3 (G
IR =¥ 3,723, 020
HERET = 3,723,020 | MRATHE 98 m2
1 IR A
SR E T = 6, 256
sy EuE L T = 6,256 | KA LD 5 ik 9 13
% T =¥ 458, 700
AZEE BT = 458, 700
[ERE MR =Y 4,631,975
IE =¥ 1, 271, 000
B =¥ 84, 000
BIGREWESR (51 h) = 84, 000
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Blap i Ly =X 3, 774, 000
TR = 1 9, 676, 975
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TEHERXSy - Lff - iyl A A 4 KA #H 3]l HN E
K2 T = 34, 468, 952
EEE LT =Y 481, 635
T = 481, 635
a1 = 6,631,414
EELT =¥ 40, 776
TR T = 5,124, 746 | BAFTHTHL 1 FiN
#1500 L=19. 5m ;
FEIA (v-27) 40 m3
+4
B 0.7 m3
/Y- hgk (RS
ALy 0.7 m3
/)Y -k (HERR)
FaH AR T = 1,465,892 | JLmEAS 23 m2
RC-40 t=200mm ;
ayp)—}p 32 m3
ap)=-r (25 ;
EESi] 1.54 t
SD345 D16~25 ;
Hll P =
P Ze R B 3 &
200 L=500mm ;
Ea 1L = 13,100, 110
EELT =¥ 179, 335
LT TR T =¥ 11,515, 702 |$FT$THT 4 FIN
$ 1000 L=16. 5m :
BOA Q) 60 m3
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vy -hidk (BER%)
RISy 4 m3
vy )bk (&A%
oyl 1YL = 1 1,405,073 | JLAEAS 19 m2
RC-40 t=200mm ;
HLavy)-h 19 m2
2/))-p(15) t=100mm ;
EVZER 32 m3
/)= 2F) ;
E5SiT] 1.08 t
SD345 D16~25 ;
T 1 =
&L = 1 7,769, 049
EELT = 1 176, 274
SATFTAL L X 1 6,187,702 | ZPTETHL 4 N
¢ 1000 L=16.5m ;
FEIA (b=27) 60 m3
+45
OB 4 m3
vy -hidk (BERR)
RISy 4 m3
vy bk (BEA%)
oyl 1YL = 1 1,405,073 | JLAEAS 19 m2
RC-40 t=200mm ;
HLavy)-h 19 m2
2/))-p(15) t=100mm ;
EVZER 32 m3
/)= 2F) ;
E5SiT] 1.08 t
SD345 D16~25 ;
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HEWHE T = 494, 798
B s = 306, 659 | BhFEMHIE 105 m
BRI
BESRN =N V-2 52 m
AL 2m P EEET 0y )
sy EuE L T = 40, 374 | EfZERR B KT 27 m
TAT MR t=15emEA T
AEE AR A 41 m2
TAT W MEEERR. t=15emEL T
AafET =¥ 132, 825 |AXBLEBEHRT ny i 105 m
A
TEHRALER T = 14, 940 | BoEHK 2 m3
TATTW N
ALy 2 m3
TAT TN ;
% T =¥ 2,511, 640
TR T S 1,809, 720 | 5K 22 #
(PR
mA! L=10. 5m ;
AR 22 #
(P24 RAD)
mA! L=10. 5m ;
Bhaé ek T = 701,920 |1 5{RE%N =} V-w 41 m
% T = 3, 480, 306
+8 kY T = 113, 328
VEZEY- ¥4 T = 3,178
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A EEHT = 1 3, 363, 800
BT EE = 1 34, 468, 952
IE R = 1 9, 920, 282
R E = 1 5, 584, 282
TR = 1 4,634, 282 | B AR RS o) R A ST 5 1 =
TR A ) AR AL ST i 15 1 =
IR T R 1 =
BIGREWESR (51 h) = 1 950, 000
Il (FEiH ) = 1 4, 336, 000
Wi TR = 1 44, 389, 234
Bl E oL = 1 20, 561, 000
TR = 1 64, 950, 234
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